
𝐻𝑜𝑤 𝑙𝑜𝑛𝑔 𝑡𝑜 𝑑𝑟𝑖𝑣𝑒 125 𝑘𝑚

 𝑡𝑟𝑎𝑣𝑒𝑙𝑙𝑖𝑛𝑔 25
𝑘𝑚

ℎ𝑟
⎯⎯⎯?

𝐻𝑜𝑤 𝑓𝑎𝑟 𝑤𝑖𝑙𝑙 𝑦𝑜𝑢 𝑑𝑟𝑖𝑣𝑒

 𝑎𝑡 25
𝑚

𝑠
⎯⎯ 𝑓𝑜𝑟 15 𝑠?

𝑣 =
𝑑

𝑡
⎯⎯

𝑑 = 𝑣𝑡

𝑑 = 25 × 15

𝑑 = 375 𝑚

            𝑣 =
𝑑

𝑡
⎯⎯

          25 =
𝑑

15
⎯⎯⎯

15 × 25 =
𝑑

15
⎯⎯⎯× 15

             𝑑 = 375𝑚

𝑣 =
𝑑

𝑡
⎯⎯

𝑡 =
𝑑

𝑣
⎯⎯

𝑡 =
125

25
⎯⎯⎯

𝑡 = 5 ℎ𝑟

         𝑣 =
𝑑

𝑡
⎯⎯

       25 =
125

𝑡
⎯⎯⎯

𝑡 × 25 =
125

𝑡
⎯⎯⎯ × 𝑡

     25𝑡 = 125

     
25𝑡

25
⎯⎯⎯ =

125

25
⎯⎯⎯

          𝑡 = 5 ℎ𝑟

𝑠 =
𝑑

𝑡
⎯⎯

𝑠 =
40

5
⎯⎯⎯

𝑠 = 8
𝑚

𝑠
⎯⎯

Find the speed 
travelling 40 m 
in 5 s?

Algebra

Isolate 1st

𝑠 =
𝑑

𝑡
⎯⎯ Units!

𝑣 =
𝑑

𝑡
⎯⎯

𝑣 =
40

5
⎯⎯⎯

𝑣 = 8
𝑚

𝑠
⎯⎯

𝑣 =
𝑑

𝑡
⎯⎯

Find the velocity 
travelling 40 m 
in 5 s?

Walk 375 m E and then 125 m W in 25 s. Find d, 𝑑, 𝑠, 𝑎𝑛𝑑 𝑣.

375𝑚

125𝑚
𝑑 = 375 + 125
𝑑 = 500𝑚

𝑑 = 375 − 125

𝑑 = 250𝑚
𝑠 =

𝑑

𝑡
⎯⎯

𝑠 =
500

25
⎯⎯⎯

𝑠 = 20
𝑚

𝑠
⎯⎯

𝑣 =
𝑑

𝑡
⎯⎯

𝑣 =
250

25
⎯⎯⎯

𝑣 = 10
𝑚

𝑠
⎯⎯

Walk 300 m N and then 400 m E in 25 seconds. Find d, 𝑑, 𝑠, 𝑎𝑛𝑑 𝑣.

400𝑚

300𝑚

𝑑 = 500 𝑚

𝑑 = 400 + 300
𝑑 = 700𝑚

𝑠 =
𝑑

𝑡
⎯⎯

𝑠 =
700

25
⎯⎯⎯

𝑠 = 28
𝑚

𝑠
⎯⎯

𝑣 =
𝑑

𝑡
⎯⎯

𝑣 =
500

25
⎯⎯⎯

𝑣 = 20
𝑚

𝑠
⎯⎯

𝑁

𝐸
+

500𝑚

𝑐 = ඥ𝑎ଶ + 𝑏ଶ
⎯⎯⎯⎯⎯⎯⎯ 

𝑐 = ඥ300ଶ + 400ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 

𝑐 = 500

𝐷𝑟𝑖𝑣𝑒 2ℎ𝑟𝑠 @ 30
𝑘𝑚

ℎ
⎯⎯⎯+ 3ℎ𝑟𝑠 @ 40

𝑘𝑚

ℎ
⎯⎯⎯

𝑣 =
𝑑

𝑡
⎯⎯

𝑑 = 𝑣𝑡

𝑑 = 30 × 2

𝑑 = 60

𝑣 =
𝑑

𝑡
⎯⎯

𝑑 = 𝑣𝑡

𝑑 = 40 × 3

𝑑 = 120

𝑣௔௩ =
𝑑௧௢௧௔௟

𝑡௧௢௧௔௟
⎯⎯⎯⎯⎯

𝑣௔௩ =
180

5
⎯⎯⎯

𝑣௔௩ = 36
𝑘𝑚

ℎ
⎯⎯⎯

𝑑௧௢௧௔௟ = 60 + 120
            =180𝑘𝑚

𝑡௧௢௧௔௟ = 2 + 3
            = 5 ℎ𝑟𝑠

60𝑘𝑚 120 𝑘𝑚 𝑣௔௩
∗ =

𝑑௧௢௧௔௟

𝑡௧௢௧௔௟
⎯⎯⎯⎯⎯

𝑣௔௩
∗ =

𝑣௙ + 𝑣௜

2
⎯⎯⎯⎯⎯⎯

𝑣௔௩
∗ =

40 + 30

2
⎯⎯⎯⎯⎯⎯⎯

𝑣௔௩
∗ ≠ 35

Cannot use formula
     𝑎 ≠ 𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡

𝑡   𝑑
0  0
1  8
2  16
3  24
4  32
5  40 Obviously!

𝑑 = 40

𝑡 = 5
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